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Answer five questions, taking one from each unit.

UNIT-1
1. (a) Explainthe basic organizational structure of the Indian Army. 10
(b) Write the equivalent ranks of the following Army ranks in Air Force:
(1) Lieutenant 1x4=4
(1) Major
(1) Lieutenant colonel
(iv) Brigadier
2. (a) Discussin briefthe various entry modes to Defence service. 8
(b) Write notes on the following: 3+3=6

(1) Role ofIndian Army
(1) Indian Air Force

UNIT-II
3. (a) Giveany three character traits of a leader? State any three indicators of
a good leader? 3+3=6
(b) Evaluate the leadership character of MS Dhoni. 8
4. (a) Explainthe concept of honour code. 6
(b) Write note on the following: 4x2=8

(1) Type ofleadership style
(1) Duties of a good citizen



UNIT-III

. (a) State the aims and motto of first aid?

(b) Write the procedure in carriage of sick and wounded.

. (a) Write note on human respiratory system.

2
5
(c) Give account on human circulatory system with suitable diagram. 7
3
6

(b) Write the first aid procedure for: 2x3=
(1 Burns and scalds
(1) Heatstroke
(1) Snake bite
(c) Whatis asphyxia? Explain in brief two different positions in yoga.
1+4=5

UNIT-1V

. (a) Differentiate ecology and biodiversity. 2

(b) Whatis air pollution? Mention four ways to control air pollution.
1+4=5
(¢) Discuss any two (2) method of purification of drinking water.
3p+3Y% =T

. (a) Whatis conservation of wildlife? Mention four wildlife conservation

projects in India. 1+4=5
(b) Whatis water pollution? Mention four effects of water pollution.
1+4=5
(c) What is solid waste management? State any two effects of plastic
waste? 2+2=4

UNIT-V

. (a) What does NGO stands for? Name three different types of NGO.

1+3=4

(b) What s rural development programme? Write the main features of
PMGSY. 2+5=7
(c) Write short note on drug abuse. 3



10. (a) Provide the full form of POCSO. What are the main features in
POCSO Act 20127 1+5=6
(b) Distinguish between RTTActand RTE Act. 4+4=8




